LOS ANGELES AREA	CERI	IFICATE	OF ORIC	GIN ORIGINAL
CHAMBER OF COMMERCE	TO VALIDATE, VERIFY.FTC		LA-COO-460	66-66676845d0f2c
Seller (Exporter) WORLDWIDE LOGISTICS CO 4001 Inglewood Ave	Transport Typ Vessel	De la	Port of Loadin LONG BEACI	
Redondo Beach CA USA	Destination C United Arab		Destination Po JEBEL ALI	rt
	Export Date 2024-04-19		Exporting Carr MSC	ier
AL AIN AUTOMATIC IRRIGATION CO LLC PO BOX 1270 AL AIN - ABU DHABI United Arab Emirates	Import Permi	t Number	Bill of Lading / SX19793	Ϋ́AWB
	Owner or Agent		Forwarding Ag WWL	ent
Buyer (Importer) AL AIN AUTOMATIC IRRIGATION CO LLC PO BOX 1270 AL AIN - ABU DHABI United Arab Emirates	Remarks Consignor re 410356189	ference: PAIGE INV 3329	45 AND TORO INV	
Description (May include notes on Quantity, Item Number, Marks and Numbers, K	ind of Package		Weight	Country of Origin
IRRIGATION ITEMS (THE TORO CO)	and of Facilitye		692 KGS	Mexico
H.S.Code: 8481.80				
CABLES (PAIGE ELECTRIC CO., LP)		15401 KGS	United States	
H.S.Code: 8536.90	01			
ERTIFICATE OF O Accredited Chamber				
Name of Authorized Trade Association	OF ORIGIN mber US2100201	origin applicable in the country(ies) -The information in this certificate is Commerce ("LAACC") is accurate, to -The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or chain -The Applicant will maintain, and pr truth, accuracy and completeness -In consideration for the LAACC's is	ate in the country(ies) specifie to those goods. and in any documents provided rue and complete. e LAACC and any other person(ate is provided to with the know nge in such information, or in th esent upon request, such docu of this certificate and accompa suance of this Certificate, the 4 illity in connection with the issu for claims made against LAACC	ed above and comply with the rules of to the Los Angeles Area Chamber of (s) to whom the applicant provides this ledege of the Applicant) promptly in writing ne origin of goods. mentation as is necessary to verify the nying documents. Applicant agrees to release, discharge and lance of this certificate and to indemnify in connection herewith.

Toro International Company 8111 Lyndale Ave. So. BLOOMINGTON MN 55420-1196

UNIT.ARAB EMIR.

SHIPPED FROM: The Toro Company El Paso DC- International Pts/Irrig S/F 1440 Don Hasking Drive

INVOICE 410356189

INVOICE DATE 01.04.2024 PAGE 1 OF 1

EL PASO TX 79936			2023/0081	04.01.2024
Settore cont. Irritrol TURF PLEASE REMIT TO: The Toro Company (USA) Attn: Accounts Receivable Dept. 8111 Lyndale Ave S	CUST#:2110070 PAYER: AL AIN AUTOMATIC IR		DELIVERY 38162860	DATE 29.03.2024
Minneapolis MN 55420-1196	P.O. BOX 1270 AL AI 11461 ABU DHABI UNIT.ARAB EMIR.	N	BILL OF LADING 12697925	DATE 29.03.2024
			ORDER NUMBER 210332224	DATE 04.01.2024
CUST#: 2110070 SOLD TO:		CUST#: 2110070		
AL AIN AUTOMATIC IRRIGATION (CO. LLC	SHIP TO:		
P.O. BOX 1270 AL AIN			MATIC IRRIGATION	CO. LLC
11461 ABU DHABI		P.O. BOX 12	70 AL AIN	

11461 ABU DHABI UNIT. ARAB EMIR.

PO NUMBER

DATE

SHIPPED VIA: ESTES EXPRES DEPARTURE COUNTRY: Stati U LETTER OF CREDIT NO:		ORDER I INTL LI			stand		CURRENCY: USD FREIGHT: CC ECCN#: EAR39	
MATERIAL NO. /DESCRIPTION	QTY		UNIT	PRICE	ADJUST	MENTS	NET	EXTENSION
P220-23-58 VALVE, 2" BSP ELECTRIC Country of Origin: MX	240 / Srce:	8481.80	.9020				55.52	13,324.80
P220S-23-56 VALVE, P220 SCRUBBER, BSI Country of Origin: MX	60 9 1.5 / Srce:	8481.80	.9020				50.95	3,057.00
				P	RODUCT	TOTAL:		16,381.80
				I	NVOICE	TOTAL:		16,381.80

PAYABLE IN: U.S. Dollar INCOTERMS: FCA TORO DC EL PASO TX USA TERMS: 2105

TRACKING#/PRO#/PARS#:

2300993803

These commodities, technology or software were exported from the United States in accordance with the Export Administration Regulations. Diversion contrary to U.S. law is prohibited.

Toro Terms and Conditions of Purchase and Sales Transactions shall govern all sales and purchase transactions between Toro International Company and its Customers regarding The Toro Company products.

Go Paperless!

If you are not receiving your statements and invoices by email today, reach out to your credit rep to have your delivery method changed to email.

INVOICE

(ORIGINAL INVOICE)

		EL PASO	SO	TX 79936	36								
ONNER		PAC	KIN	PACKING INFORMATION	ORM	ATIO	Z						
AL AIN AUTOMATIC P.O. BOX 1270 AL 1461 ABU DHABI UNLT.ARAB EMIR.	AL AIN AUTOMATIC IRRIGATION CO. L R.O. BOX 1270 AL AIN 1461 ABU DHABI UNIT.ARAB EMIR.		Fwdr Pro C. Tel:	Cargo USA 281-220-3171	171		Marks	Bill 1265	Bill of Lading 12697925	ading #	bate	03/29/2024	9/2
Chtr/Trlr # Seal # Pro/Bkg # 23	2300993803												
		GROSS	NET	TOTAL	UNIT	UNIT DIMENSIONS	SN	GROSS NET WGHT WGT		TOTAL	UNIT	UNIT DEMENSION CENTIMETERS	NN SS
UNITS MODEL	DESCRIPTION	LBS		FEET	LNGTH	HLGIM	ТНЭН	KILOS	KILOS KILOS MTRS	MTRS	LNGTH	HIGIM	нснт
	Shipping Pallet	403	403	51.537	44.000	44-000	46.000	183	183	1.460	111.760	111.760	116.840
°	Shipping Pallet	560	560	58.259	44.000	44.000	52,000	254	254	1.650	111.760	111.760	132.080
C	Shipping Pallet	562	562	58.259	44.000	44.000	52.000	255	255	1.650	111.760	111.760	132.080

The Toro Company El Paso DC- International Pts/Irrig

Totals:

M

1,525 1,525 168.055

692 692 4.760



WE TAKE YOUR BUSINESS PERSONALLY

AL AIN AUTOMATIC

IRRIGATION CO LLC

AL AIN UNITED ARAB EMIRATES

P.O. BOX 1270

0145174

4/8/2024

ORIGINAL INVOICE

DATE

SOLD TO:

SHIP TO:

O: AL AIN AUTOMATIC IRRIGATION CO LLC PICK UP ARRANGED BY WORLDWIDE LOGISTICS CERRITOS, CA 90703

PAIGE ELECTRIC CO., L.P.

200 Sheffield Street, Suite 302 Mountainside, NJ 07092 Phone: 908 687-7810 Fax: 908 687-2722

INVOICE: 322945

ULTIMATE ADDRESS:

AL AIN AUTOMATIC IRRIGATION CO LLC P.O. BOX 1270 AL AIN UNITED ARAB EMIRATES

SHIP VIA	FOB	Your Order No.		Our Order No.	Terms
WILL CALL	CERRITOS, CA	2024/0011	Care Instanting Constanting	523835-000	NET 60 DAYS
	NVENTORY CODE-DESCRIP	TION	QUANTITY	PRICE/MFT (1000 FT)	AMOUNT (\$USD)
160250C			157,500 FT	98.60	15529.50
	U WIRE RED P7001D				
160260C			32,500 FT	98.60	3204.50
4 AWG UF/TW	U WIRE WHITE P7001D				
160270C			135,000 FT	98.60	13311.00
14 AWG UF/TW	U WIRE BLACK P7001D				0040 50
160280C			22,500 FT	98.60	2218.50
the shift of the second state of a	U WIRE ORANGE P7001D		AN PAA 175	00.00	6655.50
160290C			67,500 FT	98.60	0000.00
	U WIRE BLUE P7001D		22,500 FT	98.60	2218.50
160300C	UNDE VELLOW DTOOLD		22,000 F1	50.00	Window 1 Mar 1 Mar 1 Mar 1
	U WIRE YELLOW P7001D		35,000 FT	98.60	3451.00
160360C	UNADE ODEEN DZOGAD		55,000 F 1	50.00	
a bis manufacture and the second second	U WIRE GREEN P7001D		40,000 FT	98.60	12360.00
80115C	RE CABLE RED P7072D		10,00011		
80116C	RE GABLE RED FIOIZO		60,000 FT	309.00	18540.00
	RE CABLE BLUE P7072D				
60117C	IL ORDER DEGRET FORES		60,000 FT	309.00	18540.00
	RE CABLE GREEN P7072D				
180127C			40,000 FT	309.00	12360.00
	RE CABLE BLACK P7072D				
180160C			5,000 FT	309.00	2280.00
	RE CABLE BLACK P7072D				
180161C			5,000 FT	309.00	2280.00
12/2 MAXI/2-WI	RE CABLE RED P7072D				0000 00
180162C			5,000 FT	309.00	2280.00
12/2 MAXI/2-WI	RE CABLE BLUE P7072D				00000.00
180164C		장애이 승규가는 것으로 말을 들었다.	5,000 FT	309.00	2280.00
12/2 MAXI/2-WI	RE CABLE GREEN P7072D				16760.00
270672			15,000 EA	1.0500	15750.00
3M DBR/Y-6 (BI	JLK)				
					PAIGE
		ONOTING			16110 MANNING WAY
FORUSE	IN LOW VOLTAGE IRRIGAT	ION STSTEMS		위원이 집안님은 물을 거나졌네. 성격을	¢ERRITOS, CA 90703
	GOODS OF USA ORIGIN				
	592,500 FT CRTN. QTY. :			일을 잘 많은 것 같이 많은 것 같았다.	2018년(J.S. 1997) - 11월 11일 - 12일
to a million of the state	277 CARTONS:	160		TOTAL	\$133,258,50
PALLETS:	20 WGT:	15,401 KG		IUIAL	\$100,200.00
HS NO. 85444					
FED TAX NO.	22-3198731				
	ORIGINAL DOCUM	ChIT			00
BEA CHAMBER	ORIGINAL DOCUM	_17 1			ORIUMAI
Star Perch	Mark Har	4			
	Marsh Harry				
	Paige Sleeting on, L.	,			
USA	, Les	.			



WE TAKE YOUR BUSINESS PERSONALLY

PACKING LIST

DATE 4/8/2024

SOLD TO: AL AIN AUTOMATIC 0145174 IRRIGATION CO LLC P.O. BOX 1270 AL AIN UNITED ARAB EMIRATES PAIGE ELECTRIC CO., L.P. 200 Sheffield Street, Suite 302 Mountainside, NJ 07092 Phone: 908 687-7810 Fax: 908 687-2722

SHIP TO: AL AIN AUTOMATIC IRRIGATION CO LLC PICK UP ARRANGED BY WORLDWIDE LOGISTICS CERRITOS, CA 90703

INVOICE: 322945

ULTIMATE ADDRESS:

AL AIN AUTOMATIC IRRIGATION CO LLC P.O. BOX 1270 AL AIN UNITED ARAB EMIRATES

SHIP VIA	FOB	Your Order I	No, (Our Order No.	Terms
WILL CALL	CERRITOS, CA	2024/0011		523835-000	NET 60 DAYS
Contraction of the second state and the second state of the	ENTORY CODE-DESCRIP	TION	QTY. ORDERED	QTY. SHIPPED	REELS/LENGTHS 63 X 2500
160250C	WIRE RED P7001D		157,500 FT	157,500 FT	63 X 2500
160260C	VIRE RED P7001D		32.500 FT	32,500 FT	13 X 2500
and the second	WIRE WHITE P7001D			00,00011	
160270C			135,000 FT	135.000 FT	54 X 2500
14 AWG UF/TWU	WIRE BLACK P7001D				
160280C			22,500 FT	22,500 FT	9 X 2500
A STATE OF THE REAL PROPERTY AND A STATE OF THE REAL PROPERTY AND	WIRE ORANGE P7001D				
160290C	ALCON DI LIP DODALD		67,500 FT	67,500 FT	27 X 2500
14 AVVG 0F/TVV0	WIRE BLUE P7001D		22,500 FT	22 EOD ET	9 X 2500
	WIRE YELLOW P7001D		22,000 F I	22,500 FT	5 X 2000
160360C	WINE TELEOW (1001D		35.000 FT	35.000 FT	14 X 2500
	WIRE GREEN P7001D		00,000 ()	00,00011	
180115C			40,000 FT	40,000 FT	16 X 2500
14/2 MAXI/2-WIRE	CABLE RED P7072D				
180116C			60,000 FT	60,000 FT	24 X 2500
AND A DESCRIPTION OF A	CABLE BLUE P7072D				
160117C			60,000 FT	40,000 FT	16 X 2500
 Comparison of the second s second second se second second s	CABLE GREEN P7072D		40.000 FT	40.000 FT	16 X 2500
180127C	CABLE BLACK P7072D		40,000 FT	40,000 F1	10 X 2000
180160C	CABLE BEACK FICI2D		5,000 FT	5,000 FT	2 X 2500
	CABLE BLACK P7072D		0,0001	0,00011	
180161C			5,000 FT	5,000 FT	2 X 2500
12/2 MAXI/2-WIRE	CABLE RED P7072D				
180162C			5,000 FT	5,000 FT	2 X 2500
	CABLE BLUE P7072D				A 14 A 200
180164C			5,000 FT	5,000 FT	2 X 2500
	CABLE GREEN P7072D		45 000 FA	45 000 50	150 X 100/BX
270672	A		15,000 EA	15,000 EA	150 × 100/BX
3M DBR/Y-6 (BUL)	N).				
					24102
				A Contract of the second secon	PAIGE
FOR USE IN	LOW VOLTAGE IRRIGATI	ON SYSTEMS			16110 MANNING WAY
I WIT WAS IT	No W 9.0 4 50 10 17 1 10 10 11 11 11 11 11 10 11				CERRITOS, CA 90703
	GOODS OF USA ORIGIN				
QUANTITY: 692	500 FT CRTN. QTY. :	15,000			
REELS: 277	CARTONS:	160			
PALLETS: 20	WGT;	15,401 KG	TOTAL		277 X 2500
HS NO. 85444931					1월 - 1월 11일 - 19일 11일 11일 11일 11일 11일 11일 11일 11일 11일
FED TAX NO. 22	-3148731				
00	NORIAL DOCUME	ChIT			
	RIGINAL POÇUME				OKivervil
SAREA CHAMBER OF	Martinos				VANAUAAVAL
	Mark Haas				
	Paige Electric Co. L.F	<u> </u>			
USA					
					1